PRACTICE 6A

1.

Bucket A holds 12 liters of water.
Bucket B holds 8 liters of water.

(a) Which bucket holds more water?
(b) How much more!?

Eric bought 20 liters of paint.
After painting his house, he had 4 liters left.
How much paint did he use?

A drinks-seller sold 52 liters of orange juice last week.
He sold 38 liters of orange juice this week.

How many liters of orange juice did he sell in the two
weeks!?

The table shows the amount of | =
milk 3 children drink in a week.
Find the total amount of

milk they drink in a week.

A tank has a capacity of 30 liters.

It contains 12 liters of water.

How many more liters of water are needed to fill up
the tank?

The capacity of a jug is 3 liters.
Mrs. Beam needs 18 liters of fruit juice for her party.
How many jugs of fruit juice does she have to make?

76



